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MCO-07 

MASTER OF COMMERCE 

Term-End Examination 

June, 2012 

MC0-07 : FINANCIAL MANAGEMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five question. All questions carry equal 

marks. 

1. (a) State the basic financial management 12+8 
decisions ? How does a financial manager 

conduct risk-return trade off ? Explain with 
an example. 

(b) Discuss the challenges faced by financial 
manager in India. 

2. (a) Explain the concept of risk and the types of 

risks involved in investment in an asset. 10+10 

(b) Explain "Time value of money". Discuss' 

the role of interest rate in it with an example. 

3. (a) Explain with examples, the various 
approaches used for valuation of equity 
shares ? 	 12+8 
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(b) The market price of a bond is Rs. 1,800 
whose par value is Rs. 2,000, coupon rate 
9% and maturity after 8 years. What rate 
of return would an investor earn if he buys 
this bond from the market and holds it till 
maturity. Use the interpolation method. 

4. What is the CAPM approach for calculating the 
cost of equity capital ? Explain the difference 
between this approach and the constant growth 
approach. Which one is better and why ? 	10,10 

5. Given below are two investment proposals with 
earning before depreciation and tax. 	10,10 

Project - X Project - Y 
Initial Investment (Rs.) 50,000 60,000 
Life 4 Yrs. 5 Yrs. 
Additional Sales revenue Rs. 20,000 p.a. 18000 p.a. 
Additional exps. (Rs.) 5,000 p.a. 4000 p.a. 
Tax rate. 40% 40% 

Evaluate them on the basis of payback period and 
ARR, and state as to which one is superior on 
each basis. 

6. (a) What is Net Present value ? State its merits 
and demerits as a method of capital 
budgeting. 	 14+6 
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(b) Suppose a TV manufacturer plans to 

manufacture 30,000 CTVs. for the year 
2009. If purchases colour picture tubes from 
other manufacturers. It annual requirement 

of colour picture tubes is 30,000 units. The 
purchase cost is Rs. 3000 per colour picture 

tube. The ordering cost is Rs. 450 per order 

and carrying cost per annum is 10%. 

Determine the EOQ. 

7. (a) What are the sources of long-term finance 

and explain any one of these with its 

advantages and limitations. 	 12+8 

(b) What are the recent developments in capital 

markets in India ? 

8. Explain the concept of lease financing. 
Distinguish it from hire purchase, and explain 

briefly the various forms of lease financing. 4+6+10 

9. Write explanatory notes on any two of the 

following : 	 10+10 

(a) Capital structure 

(b) Determinants of Dividend Payout ratio 

(c) Financing Working Capital 

(d) Operating leverage 
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1 : 	 Tgrq c?, dr-H 	Foft 77-4 3 	iHR 

1. (a) 	31-m-r-{7 f1-1-zr 	401.K fa-GM -wr 

1.) f-a-9-171 	.ti--71-ft§rri c"-111 	f*-14 -51-*-TT 

12+8 
	t? 	TIfTd ogItsq1 ,*-1F-47 I 

(b) 	ITR-ff 	tch rot 	cb T4?,Ich 	4-M 31T4 ElTf 

iii fa-4-q9.  

2. (a) -q-'rriT4 	 -271 f9-47r 

Fir 	 3I)-FIT:4 	ol I (Se.I I -r1-4 I 	 10+10 

(b) `171 W1 Icqk9.6II 	I $44 

Gqi 	 \si 	t 	a-)1 	i f  
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3. (a) f4alt tz1-4 	4-1\c-i1ch cb1 	314NRITIT3ff 12+8 

(approaches) chl 	 Tritff cqi(.9.6► 1 	7 I  

(b) 	lls ml c41,11( 1IF4 1,800T. t, fq-t4 	-14-14t 

2,000 t Tcri c  9% t .-14cfc11 

3-Tqfq 8 qtsf tl 	 Nc-1N-1 

31-F77:' 	 silzilt 	cTT t 

*-z-#yI Y cIrn cril Forq cich tt5c11 t I d,t(-11(1-1 

fqfq cbizurtTr 	 

4. tr-qq-a 	ri 14 id 1114lui1i 	cb1 CAPM 31-qt117137 

ce.1 	 ? 	aTqlirTuTT - P-T1Ti-d-dlf-Z (constant 

growth) 3-1-4WTTITT at ch1 oqRs611 	I *-1 14 -4 

t 	? 	 10,10 

5. I N 	chk 	1-4 3-Trzr 	f9-47r 	14-1 	tic-I 
10,10 

- X 1N7E - Y 

50,000 	60,000 

4 	5 a4 

20,000 p.a. 18,000 p.a. 

5,000 p.a. 4000 p.a. 

40% 	40% 

mcglq 	(ARR) i 3747 

•Tar-  rch31-4-  al-KR tl-T 
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6. (a) 	 -417 err T-ecr-4 t ? TO1 

ch1 .1-, ROT 	-4 	t qui).  724T tql 

-*1177 I 	 14+6 

(b) 	TfTffMl 1rn zY. . rar-pi 	f cif a 2009 

30,000 411-1 tf.t. A71-4 all 71)79T a dId1 t I 	 

1i:ft RIF-1164 W-07 fcrWa7 ZTA-4 TP-1Tdr t 

.74 11 	f 	rc4 	31-1-47W-dl 

30,000 T*--1 t• I TAT 	ft1-4'ER 	•"1 sh4 

cipid 3000 T. ti a.1 31Trtil rit+td 450 T. 

31747 t'ffaTT lz-TW 115-4c4 opicf 10% t 174 

t 341f2 	3-1Tkqi 4-1111 (EOQ) f fi9iToT 	I 

7. (a) 	q 	-i fart t 	im 	 ""tr-77 

*UM 	-4 ft-41 	 

-4t21 0611tc-11W1f771 
	 12+8 

(b) 	ITT7t1:01 csimik14 v•?) -f- 174 4,41f? 

8. •4-  ()Email wir-47 72rf 

-rwu-zrr sni TruIT   3td7 	 rcirnqi 

t Fa 
	7*(711 Itsa tlf--4 

	4+6+10 
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9. rt5c1 14. 	1:1T 
f-ofT§R : 

(a) -ct-A.1 	 

(b) fsras 	a-TT:1M 

(c) chi4 	i 	Fc4T1 

(d) 	 

06IRS110-Ich 	ulll 

10+10 
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